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Page 12, Eq. (2.23): the symbol T in the r.h.s. should not be bold, i.e. the equation should
be
T — T“lmo‘kﬁlmﬁz eo, ©...Qeq 0P @ .. @eP

Page 16, 4th line: the symbol u* should not be bold.

Page 20, Eq. (2.56): the vector u in the r.h.s. must be replaced by v, so that the equation
becomes

VT :=VT(.,...,..v).
——
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Page 20, Eq. (2.58): the symbol T in the r.h.s. should not be bold, i.e. the equation should
be

(V . T>a1...ak,1 lmﬁk — VuTal...ock,lu
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Page 24, Eq. (2.81): a factor 1/2 is missing in the r.h.s.: the equation should be

R
Ryga[; ) <5yag6ﬁ - 67ﬁ géa) (n=2).

Page 31, in the second line, just after “In other words”: insert “for any p € ¥,”.
Pages 31, replace any occurrence of 7,(X) by Z- 1(p) (%), as well as any occurrence of

T E)by T, E).

Page 50, in the left-hand sides of the two unnumbered equations at the end of the page, as
well as in the text two lines above them: the term DBD,,VV must be replaced by DﬁDavy,
so that these left-hand sides becomes

DaDﬁVy — DﬁDaVy E
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Page 33, Eq. (3.11): insert a &+ sign immediately after the equal sign, so that Eq. (3.11)

becomes 12
n:==+ (i?t-?t) vt.

Page 33, first line below Eq. (3.13): after “the other one being n' = —n.’, add “The choice
made in Eq. (3.11) ensures that n is directed towards increasing values of 7.

Page 35, first line below the unnumbered equation at the top of the page: replace o :=
(—?t Vi) Pbyoi=—(—Vi- Vi) 12,

Page 51, unnumbered equation between Egs. (3.74) and (3.75): some indices of the Rie-
mann tensor are inline instead of being subscripts; the correct equation should be written

Y o 4pl _ v_oc4pl __4pHu v. o | 4pl V. C
Yaﬁya“n ypﬁn R yvpoe = }/pun n"Rype =R yyen'n” + R vpcnpn“n n
H/_/ ~ ~~ 4
4RV6 O
= 4Ruvn'unv.

Page 62, second line in the formula for a at the page’s top: some signs are not correct;
this line should be

1 1 1 1
= Nnan”V“N—Nn“Va (_Nn“) = Nnan“VuN— NVaN nHny +ntVeny
—1 0

Page 63, 3 lines below Eq. (4.22): b>N must be replaced by b°N, so that the equation
becomes n*V N = (x* +y* +2%)/(bN).

Page 86, Eq. (5.65): two terms ¥ are mistyped as BX; the equation should be

oK, Bt opk
"g’ﬂﬁ Kij — ﬁk an] +Kkj axi —|—Kl'k 8xj .

Page 87, Eq. (5.76): the final B is mistyped as BX; the equation should be

oK;; 9Bk ok
ok TR TRy

gﬁKij = ﬁk

Page 129, Eq. (6.134b): the first factor 1/ should be 1/(2up) and the term U should
be replaced by Uy, so that the equation becomes
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Page 153, 3 lines above Eq. (7.100): the phrase “the connection D is simply D must be
replaced by “the connection D is simply D”

Page 162, Eq. (8.7): the term 3; must be replaced by 8/, so that the equation becomes
H=- /Eim (NCy—2B'Ci) /7 dPx — 2]2 [N(k — x0) + B'(Kij — K¥i)s'] \/q d*y.

Page 165, Eq. (8.17b): the term 1/7m must be replaced by 1/r, so that the equation be-
comes

_ 1 _
Fere = Feer = — and Fe(pq, = —co0s0sinO
r

Page 178, unnumbered equation below Eq. (8.61): the index v in “R",, is ill placed; the
equation should be
V, VY —VEV Y =4RM kY.
0

Page 184: the grey box delimiting Example 8.7 should terminate just below Eq. (8.80),
i.e. the text starting by “Let us now find...” should typed be on a white background.

Page 187, Eq. (9.2): the indices i and j of K’ ;j must be swapped, so that the equation
becomes

DK’ —DiK = 87p;|.

Page 191, unnumbered equation at the top of the page: the term AJ" must be replaced by
(LX)7", so that the equation becomes

o 1 . .
/ §:/C' DA /¥ dPx = -3 / %7 (LO)* (LX) /¥ dx.
Xy Xy
Page 193, 3 lines above Section 8.2.4: replace “that it always solvable” by “that it is
always solvable”.

Page 203, 2 lines above Eq. (9.75): replace the second occurrence of “(9.66)” by “(8.44)”.

Page 205, 4 lines before the end of Remark 9.4: replace “the thin sandwich system does
have” by “the thin sandwich system does not have”.

Page 206, unnumbered equation between Egs. (9.85) and (9.86): the plus sign in the r.h.s.
should be minus, so that the equation should be

DlDlN—f-ZDl lan[le = \P_l [DlDl(NlP) _NDiDi\P] )

Page 215, 5th line: replace “boosted boosted” by “boosted”.

Page 225, last line: replace Xy, by Xg;.



* Page 233, first line above Eq. (10.23): replace “in the form (10.23)” by “in the form
(10.19)”.

Page 237, first line below Eq. (10.33): replace X, 5, by X, 5;.

Page 243, Eq. (10.56): replace == by =.

Page 244, first line below Eq. (10.59): replace “K is a positive function” by “k is a positive
function”.

Page 245, first line of Remark 10.10: replace “where K by “where k”.



